
DAILY ASSA M 

7- 4 

4.1 

() 

eT Tox + 5 bI Z zI (x +5) aD1 ION AITII 

siTo, rATE X +5 = 12, 3 G? RTBI Q1 7AF 7A| 

aTE TiR7 7= 100 

7TR 37=x 

CFSr 337=3x +5 

AIC3 eTca 7ARa 3x +5 41 

y z,1, m, p EJI RT eT7T fRrRTI UIR 7 i 



x+5 112 - (i)
10x = 100 -(1i) |BRAITRST SITRIDI TAR4| 

3x +5=41 -(iii) 

O (i) R T CDIU A 1, 2, 3, 4, 5, 6 Ji 7R3JiTr TEAI 1$9F 

iP ARI ( B )I 
fE 7 3Ra (7+5 =12) TRET 7HIis r = 7 7*UICDI () TIR FT=TR51 

R IO, 7 7*UI (x +5 = 12) TA14 I 

afoAI x = 10, 10x = 100 1KI [10 x 10 = 100] 

Pb RRUI = 10 

(ii) RIR 3x+ 5 = 41, TdGTE X aIER fAR DIS 

x=1 ZaTTT 3x1 +5 8 a R 
x= 2 I 3x2+5 11 a 

x=3 TT 3x3 +5 14 fa 

x = 12 TEATTI3x 12+5 41 a 
sfo, x = 12 1 3x +5 = 41 7a4ic5l f I GAx = 12, 7Aq (ii) arA 7AK 

7R fac+ = 12 a 

7R ARA I7= 3 x 12 = 36 1I 
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=x 

A 3I PA 6 34, TiR 6 x= 3x 

7 u R ARTU�T 29 AT U«fs x +29 

x+29 3x+5 -(i) 

[ 3x+5 = x + 29 fRT A? R] 

x+29 3x +5 7 3x+ 5 =x + 29 74 0 4TTI FR 

) 5 g 7 RAT11 35 A 8 

(i) ai RRUR 13| 79E 2 aII zRA 3 

(ii) 01 7RRUR 2 IU 3 AI RA 11 CAI TI 

(iv) 1 7RRJA 8 G1 327 7 

(v) 10R 91 7R<UA 3 e7 4 RI 71 

) x5 = 5x 

Sx 7 fRCEA1) 7T CAtaI R 5x-7 

RE TRF (c19RP) 131 TR 8 

STUR, T TDI Z 5x-7 8 
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S 

+2 IF 3 (Tre aE) 

7TrTbIz2 +2=3 
(ii) 7RRTCT z; z 32 * = 2 

2z 79 3 (A 22 +3 (Ptai T 
sfot riTDI R 2z +3 = 11 

(iv) 7RTTCDI p; pa 8 e1= 8p 

8p 3 a 32 

RIDI E 8p = 32 

(v) z RYITDI 1, 7*ITBA 3 ueie *3/aa9T 4 11 AT3/+4, 107 7aA z 

7 0I 3/+4 10 

GnRa 28 

(i) 3x +7=4 (ii) 5 6 (i) 2z- 5 3 

iv) 6p= 24 (v) -1-2 

(i) 
(i) 

i) ET 9I 7RT 2 RI 5 RI RI FRFA 3 KI 

(iv) 1 7R3P6 3 24 7 I 

(v) 
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fo 4 A = X+ 4 (1 4 74 4 a) 

X+4 

r+1 

x+4+1 +5 

2x 4 ATE I T R*3JI = 11 

Rx +2x + 11 

X+2x+11 = 50 
.C TAI41, 3x + 11 = 50 

IRTO =x C5 

eNC, RODR =x+5 C5 f (UO4 T, aZUT 5 (5 ) 

2[x + (x+ 5)] 

2(2x+5) 
= 4x + 10 

4, UIROTD AAI = 26 C5 f 

7TcD za 4r + 10= 26 
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fe aAA R x -4 

7e (r4) 74 3= 4(x-4) 
A TT, 7 = 32 

y 4(x-4) 
t TAaTI T 4(x-4) = 32 

=32 

Ra 78 ) 3x +8 11 TTCBA X = 13 i 7al4tA I i IIRII 
3x +8 11, 7iToTS x = 1 qTt 
3x1 +8 = 11 uajS x = 13 aa 3x +8 = 11 71TDI 

ii) 6y - 7 5 TARaO y =2 FKT R R R 

6y-7 5, 7iT6T y=2RT 
x 2-7=5, yeiR y =23 6y - 7= 5 TDI 1 

() +5 12 CDT p = 21 FATA R R T| 
nR883 

) 2x +6 6 10 (ii) 5x-2 13 

(1) 2x+6 10 

x=1 aII 
x=1 aEatti 2x1 +6 =2 +6, 7 CDI f R 
x =2 T 2x2 +6=4+ 10, 7T14DI a 

siTox = 2, 7TadGR 7TAK 
i) 5x-2 13 

x=1 qaTCI, 5x- 2=5x1 - 2 =5-2 3 7 ToI RR 
x= 2 tT, 5x2 -2 8 T TDI 1 RA 
x = 3 T, 5x3 2 = 15-2=13 T TI M 
oKTX = 3, 5x -2 = 13 A4 7 
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3ATFro- 4.1 
1. 

DI RUR 6 3 75T 5 ISI 3AA 35 (11 TI 
ii) 
(ii) g1 7RUTM 5 3, 20 5 of 
(iv) 10 RA ADI RJA 7 *4 1T 3 CAI 

(v) ARRUA 423R4 1 4 fA15| A 2 (AaI TI 
(vi) pa 4 20 7 

(vi) a1 7RJA fUR 1 CAII AIA 2 I 
(vii) 40 A1Ta aDI 7RJE 10 E 10CA1I 

(i) 3x-4 5 i) +6 11 i) 7p=42 iv) 2 

(v)5x+7=2 (vi)-1 =4 

() 

(ii) aTi aofa RAI 32 C5 fa 

1 1 7A|3 180°1 

)*+5=0, (x=-5) i) 2x-8 7, (x=4) (ii)+6 7, (x = 3) 

iv)-2=0, (r= 7) () Sx = 35, (r = 7) (vi) 4x + 8 = 4, (x =-1) 

(vii) 7x +2 9, (x = 2) (vii) 2x 16, (x = 8) (ix)=20, (r = 100)

)+49, (r= 1) 
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5. 

) 4x+3 7, (x = 1) i)+7,(r-3) (Gii) x-4- 1,=3) 

(iv) 6x= 18, (r= 2) 

() 

)5x1 7,(r-2) (vi) x +9=13, (r=4) 

(vii) 5x-7-8, (x =3) (vii)+5=8,(y=9) (ix)+45, (p = 1) 

) 6, *=42) 

G) 2x+5=11 )+57 (ii) 7x-4 24 

4.2 

10 T 1 5 I 1ROI 7AOI afo fa| 

i) x14y * TDI HAA =y *+2 y +2 (TaTRT 2 1s| T) 

(i) x y 7RI TOI 7A R x =y á2=y-2 (TAPT 2 faCR1S F) 
(ii) x y *I TO 7AFT x =y 27*2y(TAIPITTI 7RI 2R *F ) 

(iv) x y *I 01 7AT T x =y j- (TATFT 7*1 2 T) 
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